MORE PRACTICE: Applications 1

1. A wildfire is burning in, what is roughly, a circle. The fire is currently 100 square feet.
The fire is doubling in size every 10 hours. How long until the fire is 1000 square feet?

2. Rutherfordium- 261 has a half-life of 81 seconds. If you have 50 ounces of Ru-261:
a. How much will you have in 1 hour?

b. How long until you have 5 ounce left?

3. The population of Sweden is 9,918,869. It is expected that the population is growing
at a rate of 6% annually. How long until the population is 15,000,0007?

4. The population of Estonia is 1,305,980. The population of this country is decreasing
by 6% every year. How long until the population is 1,000,0007



ANSWERS /

AR

MORE PRACTICE: Applications 1 J

1. A wildfire is burning in, what is roughly, a circle. The fire is currently 100 square feet.
The fire is doubling in size every 10 hours. How long until the fire is 1000 square feet?

¢ L -
F:’ ICO (23 t = ) 062' \OO E_ (D (’ L‘. fime.
000 = 10(2) Aheneneds

log= 2t So C‘Gt‘lxlOkours = bb.YH hours
2. Rutherfordium- 261 has a half-life of 81 seconds. If you have 50 ounces of Ru-261:

a. How much will you have |n1hour 3u0 .
ShiF = 50(£)78 = 50 (LV® = so(d)""> 2<>&3°?><:ou S

b. How long until you have 5 ounce left? ol
X

_ </
S—BO(LB 8l o 0. | e‘><f/ = 3.32
= O3 =332
t-‘-u”q&%ﬂc‘s

£/ t = loa,, O
o= (\ 8 = T8l 19w, o &5
3. The population of Sweden is 9,918,869. It is expected that the population is growing
at a rate of 6% annually. How long until the population is 15,000,0007?
P= 9318869 (1+0.06 Y + 103 [.51(2
Lo(
1500000 = Q,QIE,SLQ(LOQ\

e P T1alS2 g 05 years
1.512 = 1.o6T ) 106

4. The population of Estonia is 1,305,980. The population of this country is decreasing
by 6% every year. How long until the population is 1,000,0007?
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